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Worksheet

2.5.1 Organisational structures
1.	Explain the benefits of operating a decentralised organisational structure. (3 marks)
 	
 	
 	
 	
 	
 	
	
 	
2.	Explain the benefits of using a tall hierarchy organisational structure. (3 marks)
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In 2014, Simon Kossoff, chief executive of the
Carluccio's Italian restaurant chain, agreed to
take part in the Channel 4 TV series Undercover

Boss. He was about to recommend a £50 million
- expansion of the chain and thought it would be

useful to check on what was happening on the
shop floor first. The series gives each boss a

cover story and a physical disguise, and then
places him or her in a variety of low-level jobs
- within the business. This cuts through the layers
of management that separate the boss from the
day-to-day experience of staff and customers.

David Kossoff found problems in the business when he.
went on Undercover Boss

Kossoff found problems with:

+ Quality: the Peterborough site had not
replaced its head chef and general
manager since they left six months before.
Unsurprisingly, problems were arising
messy kitchen [not something customers
would appreciate on screen), equipment
malfunctions (a faulty food lift, resulting in
cold food), and so on

o Efficiency: in the Bicester outlet, inadequate
systems meant that staff were queuing to
place orders, customers were waiting for
their food, stress was rising and staff were
dissatisfied

+ Business decision-making: the opening of a
site in Trinity Leeds shopping centre proved
too close to their first site in the city, causing
a significant decline in custom. What had
been done to boost marketing and recover
sales?

+ Management feedback: Kossoff often found
that heroic efforts being made by junior staff
received little or no recognition or thanks
from middle managers. This was a huge
disappointment

As usual with these programmes, Kossoff ended

up handing out rewards, praise and promotions

to several of the individuals he had come across

But there was less evidence of wider concern

about that huge vertical gap between the top and

bottom of the Carluccio’s hierarchy. One week

‘going undercover’ was not going to solve that

problem.

Total: 20 marks

1 Outline one problem that might arise from

not replacing the head chef in Peterborough. (2)

Outline how the use of quantitative data

might have helped Carluccio’s avoid

its mistake with the Trinity Leeds store

opening @

3 Define the term ‘organisational structure’. (1)

4 Analyse how Mr Kossoff might try to solve

the problem of the ‘huge vertical gap’

between the top and bottom at

Carluccio’s 0]

Mr Kossoff is still determined to

expand Carluccio’s, and sees two ways

of doing it:

+ Option 1: Expand in the UK, from 80 sites
today to perhaps 120 in future.

+ Option 2: Expand into Europe, especially
France and Germany.

N

o

Justify which one of these two options Mr
Kossoff should choose O]
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